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—=in the question, a part of the sentence is italicized. Alternatives to the italicized part are given which may improve the

sentence. Choose the correct alteenative. In case no improvement is needed.

o of her tme to music.

Spart B, lent C. Devoted D. Noimprovement

)

Sclect the word or phrase that is closest in meaning to the given word - NONCHALANCE

A. Neurralin B. Indifference C. Allknowing D. lgnorance

3. Find e svaonvm of the word — PERSISTENT

v Armageiddon © B, Flagrant C. Tenacious D. Inconsistent

4. Choose the correct alternative

g
AL rain 3. stream . Poul 1D. canal

5. Choose the opton which gives the closest meaning to the phrase given below
5 o &

-5, .

ok seat driver

A. Eixtra weight B. Instructor from backend

C. People who criticize from the sideline D. Secund person

6. GLGANTTC (opposite)

Huge B. Inwisible C. Zewo D, Tim

| A Mabile - B. Rapid C. Active . Busy

v, Fres B. Modern C. Ancient D. Present
9. te foppusite)

-
ot

3. Discard C. Complement D. Berate

i, Credulous CMeaning)

A, Credible B. Discipline C. Gullibie D. Incredible
I Unvoke NMeanmng)
A, Merge B. Amalgamate C. Split 1. PFederate

12, Alrercation {(Meaning)

AL flexibilivy

o

3. animosity C. Incompatbihity |

Lo

Concord

L 13 This is a buge traffic jam — of heavy rain

\s B. Since C. Because D. For
14 Montka ts quite intelligent but rather

A dealistic B. generous C. lazy D. opumistic
15. Fach of the following sentences has been divided into four parts. There is an crror in onc ot the parts,
which has an crror.

v The man o/ (B. who 1 sold/ (C. my house/ (D. was a cheat. (E) No cerror
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| 1. Raju can do 25

| AL 15tdays B.250days C. 200days D. 180dayvs
| 17, Afeer walking 6 km, 1 rurned to the right and then walked 2 km. Afrer then | tumu! ro the left and walked 10 km. In the
end. T was moving tow ards the Notth. From which direction did 1 start my journey?

N, Xorti
i

15, A

\, 8 {6/7) davs B. 8 (4/
1

1O 1E A v B means A s to the south of B;
| means A is to the west of B: then in P %

LA South-West

20, 1F BOMBAY is written as MYMYMY, how will

CATENTEATLA B. MNUMNUMNU C. IANTIATIAT D. ALDALDALD
1 :
a1 A can do a piece of work in 20days. He works at it for 5 days and then B fmishes it in 10 more days. In how mang da

1l A and B rogether finish the work?”

certain code language, if INFER

X, By

| 53 Sambbu can do Yz of €

Lem o Dinish the work?

24, A card s drawn at random from a de

A, 3/4 B. 4/7

x angle

27 A and B can do done a job in 6days

e es ot In how ms ny days will the wo

AL G davs
| 28. The angle

PAL B B. 75"

A B.1

30, I how many ways 4 team of 11 must be celected a team 5 men ¢

| )
more than 3 men.

A. 13065 B.

»of a piece of work in 5

B. South C.

o a piece of work in 20days and B can do itin 15days. How long will they take

B. South-East

B. 10days

the work in 8days while Kalu can do 1/3 of the work

1 7days B. 144/

ck of cards. Find the probability of getiny the Sof

and 12days. They began the work toget

B. 4 days C. 5 davs

between the minurte | hand and th

2256

5 days. Fow many davs will he take to €0 mplete the wor rk ren tmes?

Hast D. West

if borh work together?

7y days C. 9 (377 days D. v (4/7) davs

¢ 1 N

cans A is to the cast of By A -1

s}

A + B means A is 0 the north of By A
Q+~R-535isin which direction with respeet e Ce
C. North-East 1. North-West

yat coder

TAMIL NADU be written int

C. 12days D. tdavs

=25 and JERSEY = 28, then CHOICE =2

C. 41

i 6 davs. How

17days C.72/

1.9

17 days days

;
dinmond.

B.1/52 €.1/10 0. 172

between the hands of a clock at 10.25 1s

C.1/8 D.3/7
2.5 C.195° D.197.5°

hefore the

r but 3 davs

rk be Cumplucdf

J
!

hour hand of a clock w hen the tme 1s 8,30, (i

C. 6L

59 The number of products which had 100% market share in four metropolitan cities 15

. 2 3

and 11
1243

w‘d"w

46 e e T R S AR e

wormen \»ACL‘ thar the team must U)l]l{ yeise Of 0

¢ for both ol

o contains 0 black and 8 white balls. One ball is drawn at random. What is the @’sm‘l'x;ﬂui’in v that the ball drawn is wh

jRga

completion of 10b,
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L1 A can do a work in 14 days and working tog her A and B can do the same work in 10 davs. In what time can B alone do

|t work?

LA 25 days B. 30 days C. 23 days D. 35 days

\aow, Manju and Mava can do a work in 90. 30 and 45 days respectively. 1f they work together, in how many days will they
complere work?
LA L5 B. 10 C.20 D.25
40 men can catch 200 sharks in 20 days wor king 6 hours a day. In how many days 25 men can catch 500 sharks working «
| "-,{ urs a J\ 5
AL N0 B. 34 C. 24 .20

4 Amit and Ananthu can do a work in 15 days and 25 days respectively. Amit started the work and left after 3 days. Ananthu
took over and completed the work. In how many ¢ days was the toral work completed?
P a, 28 days B. 20 days C. 23 days D. 25 days

L5, 11 Ads chrice as fast ag 3 and lc)g:,cnu can do a work in 21 davs. In how many days A Alone can do the work?

A. 36 B. 42 C.28 D. 54

o, With our any halt a train travels a certain distancewith an average tpccg 1 of 75 km ph , and with halts it covers ¢ the same
distance at an average speed of 60 kmph. When it is traveling with halts, how many minutes/ per hour does the train hait on
an average ¢

\, 48 min. B. 12min. C. 15min. . 18min.

1 7. A lady starts from P rowards (Q and realizes that ata point R, if he walks S0 kim further he will be at a point S, whacl
g away from Roas it is from () What is the distance between P and Q it the distance between I and R is hall the distance
' from R to Q7 Assume that | > Q,Rand S are all on th€ same straight hine)

A

A, 150 km B. 200 km C. 250 km 1. 125 km

S 1n a 1000 m race Usha beats bhm\ by 50 m. In the same race, by what fime margin Shiny bear Merey who runs at 4 /87
AL 100 sec. B. 30 sec C. 5 sec 1. Data not sufficient

Lo, \and B par uu} ate in a 5000 m bicycle race which is being run on cireular track of 500 m. 1t the speed of A and B
s and 10 m/s respectively, what is the distance cov cred by A when he passes B for the seventh ume -

| AL 2500 B. 2800 C. 4000 m D). situaton is not possible

wo buses A and B leave the same bus depot, A tow ards the North and B towads the Fast. The bus A travels at <pccd O
ks b more than that of the bus B. If after fuur hours the distance between the two buses ts 100 ki, find the speed of th

L AL OU kimph B. 40 kmph C. 20 kmph D. 15 kmph

11, The cost price of two rtypes of tea are Rs. 180 per kg and Rs. 200 per kg respectvely, On mixing chem i the

| 5.3 the mixture is sold at Rs. 210 per kg In the whole transaction, the gain percent is
A 10% B.11% L 12% . 13%

12, A ader marks his product & 40% above its cost. He sells the product on credit and allows 10% wade discou

in order to ensure prompt payment, he further gives 10% discount on the reduced price. 1f he makes a profic of

I( 67 from the transaction, then the cost price of the product is

AL Rs. 300 B, Rs. 400 C. Rs. 325 D. Rs.

A retailer sold two articles at a proht percentage of 10% each. The cost price of one article is three — fourth that o
;Km other. Find the ratio of the selling price of the dearer article to that of the cheaper one
PA 43 B. 3.4 C. 4131 D.31:41

,.1 L 1f the SP of Rs. 24 results in a 20% discount on the list price, What S P would result ina30% discount

7228
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A Rs, 27 B.Rs..21 C. Rs.20 D.Rs. Y




Genests Traning Test - Z

15, Anil bought a T.V with 20% discount on the labeled price. Had he bought 1t with 25%, discount, he would

have saved Rs. 500, At what price did he buy the T.V?
AL Rs. 16000 B. Rs. 12000 C. Rs. 10000 D. Rs. 5000

16. In an examination amar got 8% less than the pass mark and mohan got 20% more than the pass mark. It the
difference between the percentage of their mark is 14, then whar is the pass pereentage
| A 3o B. 50% C. 60% D. cannort be determuned.

17 T'he sataries of A and B together is Rs. 14,000, A spend 80% o of his salarv and B spends 357 of his salary. What 1
salary of B it their savings are equal?
Rs. 6,000 B. Rs. 8,000 C. Rs. 7,500 D. Rs. 0,500

1\

[5 A sum of Rs. 395 was  divided among A, B,and C in such a way that B gets 25% more than A and 20% morc
than (. Wharis the share of A?
A Rs. 195 B. Rs.180 C.Rs. 98 D. Rs. 120

19. John introduces Mary as the daughter of the only son of my father’s wife. How is Mary related to john?
AL Aunt B. Mother C. Wife D). Daughrer

After walking 6 km, T turned to the right and then walked 2 km. After then T turned to the left and walked 10
lam, In the end, 1 was moving towards the North. From which direction dld [ start my journey?

North B. South C. East D. Wes

| 21 In the question, a part of the sentence is italicized. Alternatives to the italicized part are given which may improve the

sentence. Choose the correct alternadve. In case no improvement is needed.

She gave most of her tme €6 music.
\. Spent B. lent C. devoted 1. N smproveme
s

|22 Select the word or phrase that is closest in meaning to the given word — NONCHALANCL
A Neuarrality B. Indifference - :\H»km)wmg D. lgnorance . timeliness

23 1ad the svaonym of the word — PERSISTENT

AL Armageddon .1 ‘\aum C. Tenacious D. Inconsistent

i )
24, Choose the correct alternative \
Plow : River © Stagnant @ ? ‘

DAL rain B. stream C. pool D. canal

| 25 Casugare (opposite)

Trap B. Discard C. Complement D. Berate
' Essay

How important is it to have a personal-professional balance in life to be happy? What do vou do 1o achieve that?’

ile

Technical

Note: Usc any one of the Janguages — lava, C, C++

1. Write a program to find transpost of the matrix.
2. \Write a program to find a distinct elements in a given array.
A=[1,2,2,3,4,4]
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